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PENRBIHE G 106 A R%RT 2ma vt n g 149, 686 1065 = % | 243
dOE FHE § 106 & R4 Y 2 ma it d g § 31,507 10652 £ | 243
PEARPARPERE 106 & R 7 2na vt 5% 1,096, 273 1065 = % | 243
PELRMTERRRGLE (1062 RREMT 1 Frh g 1,497, 164 1065 = % |25
P EARLE G 106 A R%RET 2ma vt n g 422, 400 106)% = % |2 7%
P EARES g 106 B RA Y 2na iv3td g 104, 541 1065 2 £ | 243
PEARA ZRER 6 (106 AR T 2 v d gy 95, 134 106(% = % |25
PEARREERE 106# R R8T 21 v d 53 12, 039 1065 = % [ 253
PEAREFRE 106# B R v 2 e 5y 137, 147 106)% = % |27
PEARMTE R e g (S AL T e Ty 30, 766 1065 = % |25
PEARMTER R E (VT MR E g 33,500 1065w % |27%
PEARMT @R e g (201TE L F AT e s R 44,279 1065 = % |25
P EARMSH G 106 A R%RET 2 ma irtdn g 218, 900 106)% = % |27
PEAREFERE 106 & Fs4 T 21 (F 553 684, 000 1065 = % [ 253
VEARBERE 106# A FHMT A1 458 28, 546 106|552 % |25




RYIHT ¥

A () AT EME BASTHEL L
o gd A

P EARFENE 106 & MR T 2in1 v d 5t 406, 293 106)% = % |25
PEARES 106# B R 21 e 358 65, 000 106| %2 % |25
PEARMATAEL EA (1068 A REMT Lina it h g 24, 000 106 % = % |25
HEE
CERS ¢ 106-# & BZA Y 2 ina (7335 5 ¢ 553, 220 106]% = %[22
PEARARRETAE REAFES L LR LA 172,508 106 % = % |25
dEA Rk E 106 3 MM T 2 m1 F3- 4 0% (538 3%) 470, 000 106 % e % |25
VEAFKY ERLE 2017# p ? R L WEAFELEL 2B KB 100, 000 106 %= % |25

¥
PEARREELE 106 B R4 Y 2ina vt 454 147, 000 1065w % |25
PEAREERE 106# R R4~ 251 i g § 237, 015 106)% = % |25
PEAREREE 106 B %47 2in1 v 458 1,612, 638 1065w % |25
PEARRATIAELFA [106E RREMT L R d gy 65, 000 106 % e % |25
HEE
PEARMTES R e (201TE AT e E WY E 26, 000 1065w % [
VoER FiTA g 106 B MY 2im1 e dan 1,227, 000 106 % = % |25
P EA RERE § 106# & FEHT 2 fF-F 0% 244, 356 106)% = ¥ |2
voER FEIR R G 106 A RAT 21 et e d 57, 920 106 % w % |22
VEARFRRE 106& & MSRT 2in1 vt g0t 146, 371 1065w % |25
¢OER A § 1062 & R8T 251 vt d 0% (520 ) 173, 051 106 % = % [25%
PEARFIFIE 106 R REMT 2ina it d 5t 247, 829 106|% = % | 244
PEARZ G 106 B MY 2im1 e dan 168, 581 106)% = % |25
Y EAFRA R 106& B AT 21 v g0 769, 500 1065w % |25
VEA R AT § 106 B RA T 21 (v d 5 g 825, 600 106 % = % |25
PEARERE§ 106 & MM T 21 fF-F 0% 265, 283 106)% = ¥ |2
PEANRR A 106+ & WM T 2 ina (vt g g 1, 047, 356 106)% = % |25
P EARS B § 106 B R%AET 21 ikt g o 867, 000 1065w % |25
S e il R 106 & ST Ain1 v 450 1,434, 000 106 % = % |22
YEA R RS § 106 B %47 2in1 v 458 2, 980, 258 1065w % |25
PERRERY ERRE 106F B R85 21 (T34 5% 33, 168 106| %= = |25t
PEARAFRE 106-# & BZAE Y 2 ina iF3- 355 ¢ 100, 000 106 % = % |22
VEARERRE 106# A& FIERE S 21 ¥ 3 0 9 54, 000 106)% = % |25
PEARAL G 106# AR T A1 i 452 313, 800 1065w % |25
PEARAMT @R (201TE AT e F AL E G 20, 545 1065 = % |2 4¢
ELARETRE§ 106 B %47 2in1 v 458 51, 293 1065w % |25
PEANREFER S 1064 B R T 2in1 (t3h5d 671, 755 106] % = % |21
PEA KRR 106 B B4 Y 2in1 v 450 98, 269 1065w % |25
VOE R 6 1062 & R T 2m1 vt d g (444 -31,507 106 % e % |25

Flew)
VEARELE 1064 B RS T 21 T3 R 57 B2 (% -62, 351 106 % =

A A B )
g.ih < g 20174 A+~ BiEds ¢ Fap i1 2F £35 15,514, 920 106

FAAX A CRHEEL (PFIRE)
R 20174 4 %~ B8 ¢ 4 ks os iz 1 17, 436, 326 106(% =

2
MAEE A R 8 0174 A&+ Ri8d ¢ FaKB 12 22, 033, 169 106 25
B2 A p g s 20174 M2 B < F38d ¢ FHEEZ 142 9,588, 188 106 % 25
FLE fLp+ F 0174+ % X Fih ¢ FaHB3 142 3, 740, 608 106 25
R S ] 20174 A+ % = Ri@H ¢ F4HB 142 48, 802, 982 106] % 25
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